INSTALLATION INSTRUCTIONS

1.

C-UMM-102 HAS A HANDLE SUPPLED IN THE
HARDWARE KIT. IF THE HANDLE IS TO BE USED
REPLACE THE NYLOCK NUT WITH THE SUPPLIED
HANDLE ON THE DESIRED JOINT.
THERE ARE TWO PRINCIPAL WAYS TO MOUNT THE
C-UMM-102. FOR SINGLE POINT MOUNTING
1. USE CUSTOMER SUPPLIED HARDWARE
THROUGH THE CENTER HOLE.
2. TO MOUNT USING THE THREE SCREWS A 1/4"
HOLE PATTERN IS REQUIRED ON 1" CENTERS.
THE MAJORITY OF HAVIS PRODUCTS HAVE
THIS HOLE PATTERN. IF IT IS NOT AVAILABLE
DRILL HOLES AS REQUIRED. THEN ATTACH
THE HARDWARE USING THE DIAGRAM TO THE
RIGHT AS A GUIDE.
TO MOUNT A COMPUTER OR MONITOR WITH A VESA
HOLE PATTERN TO THE C-UMM-102. LINE IT UP WITH
THE HOLES AND ATTACH USING THE HARDWARE
PROVIDED WITH THE COMPUTER OR MONITOR
MOUNT.
IF THE COMPUTER OR MONITOR DOES NOT HAVE A
VESA HOLE PATTERN AN ADAPTER WILL BE
REQUIRED (SEE C-MM-200 SELECTION). ATTACH THE
ADAPTER TO THE COMPUTER OR MONITOR THEN
THE ADAPTER TO THE C-UMM-102 WITH THE 4X 1/4-
20 SERRATED NUTS PROVIDED.
SELF ADHESIVE RUBBER BUMPERS RM25062 ARE
PROVIDED TO PREVENT DAMAGE TO OTHER
EQUIPMENT WHEN OPERATING THE C-UMM-102. USE
IF DESIRED.

PROJECT
#

REV.

DESCRIPTION

1843

6-15

RELEASED TO PRODUCTION

GSM30023, 4X
1/4-20 SERRATED NUT

S-1-CM001-004, 1X
PVC WASHER

S

GSM32000 3X
1/4-20 3/4" LG
CARRIAGE BOLT

CM86600, 4X
1/4" PLASTIC WASHER

GSM31005, 4X
1/4" STEEL WASHER

CM6305K34, 1X
1/4-20 LEVER HANDLE

GSM30016-1, 4X
1/4-20 NYLOCK NUT

75 JACKSONVILLE RD,

H$15 H AVlS’ IN C . WARMINSTER, PA. 18974

1-800-524-9900
TITLE:

C-UMM-102 INSTALLATION
INSTRUCTIONS

DO NOT SCALE DRAWING

SZE DWG. NO. REV
A  C-UMM-102-INST 6-15

WEIGHT (LB): 2.595 SCALE: 1:12 SHEET 1 OF 1



	Sheet1
	Drawing View2


